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Sub 3| 2EZH()
Application.Run "ATPVBAEN.XLA!Histogram"”, Worksheets(1).UsedRange, _
Worksheets(2).Range("$C$1”), Worksheets(2).UsedRange, False, True, _
True, True
Columns("E:E”).Select
Selection.Insert Shift:=xIToRight
Range("E1").Select
ActiveCell. FormulaR1C1
Range("E2").Select
ActiveCell.FormulaR1C1 = ”"=RC[-11/SUM(R2C4:R100C4)*100"
Range("E2").Select
Selection.AutoFill Destination:=Range("E2:E6")
Range("E2:E6").Select
Range("C1”).Select
Selection.SpecialCells(xICell TypeLastCell).Select
Range(Selection, Selection.End(x1ToLeft)).Select
Selection.Delete Shift:=xIToLeft
Range(”"C1").Select
End Sub
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Sub FAMIEE(Q
Dim n As Integer
n = Worksheets(1).Range("$B%$9")
Sheets("Sheetl”).Select
Range("D1:F1”).Select
Selection.ClearContents
Application.Run "ATPVBAEN.XL.A'Random", Worksheets(2).Range("$A%$2"), 1, n _
, 7, , Worksheets(1).Range("$A$2:$B$7")
Sheets("Sheetl”).Select
Application.Run "ATPVBAEN.XLA!Histogram”, Worksheets(2).UsedRange, _
Worksheets(1).Range("$D$1"), Worksheets(1).Range("$A$1:$A$7"), False, False, _
False, True
Range("D8:E8").Select
Selection.ClearContents
Range("F1").Select
ActiveCell. FormulaR1C1
Range("F2").Select
ActiveCell. FormulaR1C1
Range("F2").Select
Selection.AutoFill Destination:=Range("F2:F7"), Type=xIFillDefault
Range("F2:F7").Select
Range("G8").Select
End Sub
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"=RC[-1}/SUM(R2C5:R7C5)"

Sub A&()
Sheets("Sheet2”).Select
Selection.ClearContents
Range("A2").Select
Sheets("Sheetl”).Select
Range("D2:F7").Select
Selection.ClearContents
Range("D1”).Select

End Sub
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Sub AFFHAAQO
Columns("A:C").Select
Selection.ClearContents
Range("Al").Select
ActiveCell. FormulaR1Cl1
Range("B1”).Select
ActiveCell. FormulaR1C1
Range("C1").Select
ActiveCell. FormulaR1C1

For i = 1 To 1000 Step 1
r = Worksheets(1).Cells(i + 1, 1)

Cells(i + 1, 1).Select

If r <> "" Then

ActiveCell. FormulaR1C1 = "=VLOOKUP(Sheet1!'RC,R2C5:R100C7,2)"
ActiveCell.Offset(0, 1).FormulaRIC1 = "=VLOOKUP(Sheet!!RC,R2C5:R100C7,3)"
ActiveCell.Offset(0, 2).FormulaR1C1 = 1

Else

"=Sheet1!RC"

"=Sheet1'RC"

"Count”
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Exit For
End i
Next i
Range("D1").Select
End Sub
Sub Y e ] E2A()
A_name = ActiveSheet.Range("Al")
B_name = ActiveSheet.Range("B1")
Range("Al1”).Select
Selection.CurrentRegion.Select
ActiveWorkbook.PivotCaches. Add(SourceType:=xIDatabase, SourceDatai= _
"Sheet2!R1C1:R65000C3").CreatePivotTable TableDestination:= _
“[43 & & x1s]Sheet2'R1C9", TableName:="3]¥ H]o]E-1", DefaultVersion:= _
xIPivotTableVersionl0
ActiveSheet.PivotTables("s] ¥ €] ¢]&1").AddFields RowFields:= _
ActiveSheet.Range(”Al”), ColumnFields _:=ActiveSheet.Range("B1")
ActiveSheet.PivotTables("5} ¥ #] ] £1”).PivotFields("Count”).Orientation = _
xIDataField
Range("11”).Select
ActiveSheet.PivotTables(" ¥l €] o] £1”).PivotFields(A_name). AutoSort xIDescending, _
A_name
With ActiveSheet.PivotTables("® 8l Hl o] £1”).PivotFields(A_name)
Pivotltems("(¥]¢] 1&)").Visible = False
End With
With ActiveSheet.PivotTables("® % H]¢]&1") PivotFields(B_name)
Pivotltems("(8] o] 31-8)").Visible = False
End With
End Sub
Sub ¥ HJEMZ ()
AA_name = ActiveSheet.Range("Al")
BB_name = ActiveSheet.Range("B1”)
Range("I1").Select
ActiveSheet.PivotTables("¥]| & H] o] £1").PivotCache.Refresh
With ActiveSheet.PivotTables("®] 8 H] o] £1").PivotFields(AA_name)
Orientation = xIRowField
.Position = 1
End With
With ActiveSheet.PivotTables("® ¥ €] o] &1").PivotFields(BB_name)
Orientation = xlColumnField
.Position = 1
End With
End Sub
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